INFOSYS PAPER & INTERVIEW - 16 JUN 2006 - CHENNAI

INFOSYS PAPER HELD IN ANNA UNIVERSITY,CHENNAI ON 16,JUNE'06

Hi friends

I am abhijit. Infosys came to our college on 16th June2006. It was the first company to come in this academic year for recruitment. I am very much happy and I was selected in the first company in my very first attempt for job.

Total no of Students attended: 2400
Shortlisted: 800
selected: 596

The paper was very easy, mostly old Questions. same pattern(questions not in order)


1.Refer shakuntala pg no 86 Q.no:133 (ans:15)


2.Refer shakuntala q.no 45 (same pattern)     (ans:64)


3.Four persons A,B,C,Dare playing cards.Each person has one card, laid down on table ,which has two different colours on either side.The colours visible on the table are red,green,red and blue.
they see the colour on reverse side and give folling comments.
A:yellowor green
B:neither blue nor green
C:blue or yellow
D:blue or yellow
Given that out of 4 people 2 always lie .find out colours on the cards of each.


4.There few diamonds 1st thief takes half diamonds +2, 2nd thief takes half diamonds +2,3rd thief takes half diamonds +2,4th thief takes half diamonds +2. when 5th thief comes no  diamonds.Find the no of diamond (ans:60)


5.There was a person whose age was 80 in year 490, and in year 500 his age was 70. find his year of birth(values may not be correct) Che ta naS
ANS:510 B.C  (since age decreases with year increase its B.C ,its very important)


6.Some statements were given and Q were asked from that (sorry i forgot)but very easy.


7.A man travels at speed of 12m/h and at return speed was 15m/h (data not correct)
  ans:2xy/x+y     x=12, y=15


8.Two train starts from two town for each hour. it takes 5hours to rach oter town.how many trains does the train come across.(ans i dont know)


9.sum on series (easy)  10. sory i forgot .


Next day shortlisted students had interview. mainly HR questions were asked very rarely technical. Each panel has only one person. The person who came for me was the head of global recuirement for infy. He was very friendly, soft spoken and Very smart.

ME:Excuse me sir.(my slot was 10.15, but called at 12.30)
HE:sorry shobana,waiting for such long time!(he might have seen me waiting)
ME:full of smiless!!!!!!!!!!
HE:tell about urselves
ME:said in 7 minutes.
he:why u want to join IT field (I belong to mechanical background)
me:gave very smart ans
he :(visibly he was satisfied)VERY GOOD!!!!!!!!
HE: if posted outside chennai ,will u be happy?
me:  very very happy sir and explained it(Iam bit jovial and so said that iam bored with chennai!!!!!! blah   blah) http://www.ChetanaSinterview.com
HE: (With all smiles )VERY GOOD!!!!!!Any Question to me?
me:  asked a ques he had never expected (i asked about client satisfaction and feedbacks)
HE: (explained very well). then asked to submit my mark sheets.THEN gave shake hands and asked 2 wait till evening
Me:THank u sir!!!!!!!!!!(i was confident that i will be selected)

INFOSYS PAPER - 11 JUN 2006

Hi Chetanaites

I wrote infosys written on 11th, almost all are from previous models only.

refer these Books,
1.SakuntalaDevi(more puzzles,puzzles to puzzle u) (2 to 3 q's)
2.puzzles and teasers by J.Summers(8 marks Q's)
3.some units frm R.S.Agarwal.


These r Q's, iam not sure abt wording but iam trying

1.one having 1000 rupees want t distribute to his five sons like younger one get 20 rupees more than elder one.wht is amt the younger one get.
a:x+x+20+x+40+x+60+x+80=1000

2.in a party total handshakes were 1275,then how many attended for that party.
a:nc2=1275

3.one fifth of bees are gone some way,two third of bees gone another way,three times of diff b/w above two gone another way,there is one bee remaining,then how many bees are thr. http://www.ChetanaSinterview.com
a:x-((x/5)+(2x/3)+3(x/5-2x/3))=1.

4.i saw my frnd after stepped down 7 steps,he is starting to come up,his speed is double to my speed,when he reached top i have to step down 4 steps. how many total steps r thr.
a:2(x-7-4)=x (not sure)

5.two sequence problems.

6.temp of five days is 12, all days have diff temp then give temp of each day.
a:1,-1,2,-2,3

7. x y z x y z
(+) a b (-) a b
--------- -----------
c d e f b g a

wht r x,y,z,g
a:x=9,y=4,z=5,g=6

8.one Q's frm J.Summers(8 marks)

9.suresh age is 3 times his sons age.suresh father age in 6 more than twice of suresh. thr sum of ages is 120,wht is suresh present age.
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Q.1) Dr. Watson has 5 nephews. After he died he mentioned in his will that  each of his brother's sons should get money according to their ages. The difference between each son is Rs. 20 & youngest son got least money. Total money to be shared is 1000. How much youngest son will get?

Ans: 
Let the third i.e. middle son will get Rs. x then youngest son will get Rs. x-40.
=>      Adding their shares = 1000
=>      (x-40) + (x-20) + x + (x+20) + (x+40) = 1000
=>      x = 200
=>      x - 40 = 160
=>      Youngest son will get Rs.160
 

Q.2) In a party there r total 1275 handshakes assuming each person did handshake with other fellow. How many people attended the party?

Ans:
Let number of people attended the party = x then
Number of handshakes =xC2 = 1275
=>      x * (x - 1)     =      1275
             2 * 1
=>      x2 - x - 2550 =0
=>      (x - 51)(x + 50) = 0 
=>     x cannot be negative
=>      x = Number of people attended party = 51
 Q.3) If one fifth of a hive of bees flew to the rose flower, one third flew to the lotus flower, three times the difference of these two numbers flew to slandbara & one bee continued to fly about, attracted on each side by the fragrant of ketaki & malati, what was the total number of bees?

Ans:
          X + X + 3( X - X ) +1 = X
          3     5        3    5

=>      X = 15 = Number of bees.

 Q.4) Due to some defect in our elevator, I was climbing down the staircase. I had climbed down just 7 steps when I saw professor Zorkoski on the ground floor. Continuing to walk down, I greeted him & I was surprised to see that when I was yet to get down 4 steps to reach the ground floor, professor had already finished the climbing up 2 steps for every 1 of mine. How many steps did the staircase have?

Ans: 
                         7                 X               4
                   |-------------- |------------------|----------------|

 From figure, equation becomes : 7 + X + 4 = 2X

=>      X = 11

=>      Total number of steps = 7 + 11 + 4 = 22
Q.5) Complete the following series:
a)    3, 6, 13, 26, 33, 66, ?

Ans:
              3 * 2 = 6
              6 + 7 = 13
              13 * 2 = 26
              26 + 7 = 33
              33 * 2 = 66
              66 + 7 = 73
              73 * 2 = 146
Series : 3, 6, 13, 26, 33, 66, 76, 146
b)    364, 361, 19, 16, 4, 1, ?

Ans:
              364 - 3 = 361
              O(364) = 19
              19 - 3 = 16
              O(16) = 4
              4 - 3 = 1
              O(1) = 1
              1 - 3 = -2

Series: 364, 361, 19, 16, 4, 1, 1, -2
Q.6) A man was asked to meet a lady lawyer who had a good logical skill. Today is Saturday. A man wanted her appointment. She called her three days after the day before the day after tomorrow. What is the appointment day?

Ans:
              Today =  Saturday
              Day after tomorrow = Monday
              Day before the day after tomorrow = Sunday
              Three days after the day before the day after the tomorrow = Wednesday
              Therefore, Appointment day is Wednesday.
 Q.7) Find the values of X, Y, Z & B using following equations. Substitute values from 0 to 9 without repetition.

     X  Y  G                            X  Y  G
      +                                    -
         A  B                                A  B
     --------------                        -------------  
    C  D  E  F                          B  G  A

Ans:            9  4  5                            9  4  5
                   +                                    -
                       7  8                                7  8
                ---------------------             -------------------
                 0   2  3                             8  6  7
 

Q. 8) Somebody asked a wizard, Alchimiro about his age. He answered that he is still young according to age of wizards. Let me tell u, I m thrice my son's age & my father's age is 40 more than twice of my age. Total of our ages is 1240 years. What is the age of wizard? http://www.ChetanaS.com
Ans:

          Let wizard's son age = X then wizard's age = 3X & his father's age = (6X+40)
=>      X + 3X + 6X + 40 = 1240
=>      X = 120

Wizard's age = 360 years

 Q.9) This was 8 marks question regarding the committees of 5 juniors & 4 seniors they have to form 3 committees. Some conditions had given & based upon that we have to answer 4 questions. I solved it last. Sorry for not remembering the question.

 Q.10) A man enquires a person about the past 5 day's temperature at noon in that region. The other replies that he doesn't remember the actual figures but there was a different temperature on each day & their product gives 12. Assuming the temperature to the nearest degree what are the temperatures on the five days in Celsius?

Ans: Temperatures on 5 consecutive days are: -2, -1, 1, 2, 3 in degree Celsius.
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1) "How old are you,Alchemerion?" asked one of the wizards apperences.the wizards answer with a riddle, "I am still Very young as wizards go.I am only three times my son's age. My father is 40 year more than twice of my age. Together the three of us are a 1240 year old".how old is Alchemerion?.
ans.360


2)A problem related to bees like some bees are travelling to some flower while some other travels to other. while one flower remain in one flower. How many bees are there ? http://www.ChetanaS.com
ans.


3)There are 1275 handshakes in a party.How many people are there in the party.
ans.   n(n-1)/2=1275       =>       n=51


4)a)3,6,13,26,33,66,__        ans.73                
b)364,361,19,16,4,1,__       ans


5) Easy question,
John was asked to meet a lady who had a good logic skill. Today is Friday. She asked John to meet her three days after the day before day after the tomarrow. Which day should John meet her?
ans.wednesday


6) for 8 Marks
X Y Z                    X  Y  Z
  +A B                      - A B
-------                     -------
C D E F                   B G A
find X,Y,Z,G

Ans: 945
+ 78
----------
1023

945
- 78
------
867


8)a problem related to ladder.Mr X is moving down 7 steps while see another person coming up.He greeted him while crossing him.Mr X saw that he had 4 steps to go while the person had reached the floor.Mr X thought that the person's speed was twice  the speed of  him. Find the number of steps in  the ladder. http://www.ChetanaSinterview.com
Ans.
 
10) the temparature of the city when multiplied get to 12 and each day the temparature was distict find each days temperature..
ans : 1,2,3,-1,-2

Best wishes for all the Job Seekers, Never loose Hope, keep Trying and one day u will surely make it
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Infosys -11th june Chennai.

1. A man asked about last 5 days temperature.one man said, i don no exactly, but each temperature is different.multiple is 12.
ans:-1,1,2,-2,3.

2.There r some bees in a garden..1/5th of them went to a particular flower,1/3rd went to another flower,3 times the difference of the above two went to third flower..n one was remaining n it was roaming around..how many bees were there? (3 marks)
Ans:15

3. F,G,H,J,K are some juniors and P,Q,R,S are some seniors...and there are 3 communities Cultural,Recreation n Ethics..n each contained 3 members each..n each one was a member of only one committee.. 
i)F,Q are in Cultural committee.
ii)P is in recreation committee.
iii)J wont be in a committee where H or Q are there.
iv)G will be in recreation committe if S also works in recreation committee.
v)there will be atleast one senior in each committee. 
vi)R wont be in a committee is S is there Chet anaS
 In this 4 parts were there they gave some conditions and asked to choose from the options..(8marks)

4.  X Y Z                                X Y Z
    + A B                                 - A B 
  ---------------                            ------------------ 
  C D E F                               B G A
  find X,Y,Z,G 

5. in a party There are 1275 hand shacks so how many members will be there? ans:50

6. .A man have thousand rupees.he wants to distribute tat to his 5 sons.second son will get RS 20 more than the younger one, 3rd son will get 20 more than second and so on..finally how much the youngest will get? (ans:160)

7. Number series 
 364, 361, 19, 16, 4, 1, _? (ans+1,-1)
 3,6,13,26,33,66-? (ans:73)
http://www.ChetanaSinterview.com
8.  Due to some defect in our elevator, I was climbing down the staircase. I'd climbed down just 7 steps when I saw a man on the ground floor. Continuing to walk down, I greeted the man and I was surprised to see that when I was yet to get down 4 steps to reach the ground floor, the man had already finished climbing the staircase. He perhaps climbed up 2 steps for every 1 of mine. How many steps did the staircase have? Ans:22 steps 

9. I went to meet my friend,today is saturday,  he asked me to come 3 days after, the day before, the after tomorrow. wats the day?

10.one wizard is telling that his age is 3 times as his son's age.and his father age is 40 more than twice of his age.how old the wizard is?.
INFOSYS PATTERN & INTERVIEW - 28 MAY 2006 - HYDERABAD

HR Interview:

        It was very cool...well actually he asked 2 puzzles:

          1.How do U make 4 equilateral triangles using 6 match sticks?

    ANS:Simple a square with 2 diagonals

      

       2.How do U make 1000 using 7 3's?

   ANS:  it can be this way---   333*3+3-(3!/3)
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1. This Question is based on a Race between some persons. A, B, C, D, E & F. A is forward than D, E is second from the last ..Such that I didn't remember Who is the winner? 

2. There was Cycle Race in a Circular Ground. After some laps I found that there was 1/5 th of the total members are ahead of me and 5/6 th of the total members are behind me. What is the total members in the Race? 

3. In a Journey to A to B I traveled with 15mph and in the return journey due to traffic I managed only 12mph. What is the average speed of my whole journey? http://www.ChetanaSinterview.com
4. Sorry, I didn't remember.. 

5. There was Cube which is painted with red on all the sides. Then it was cutted into 27 equal parts. 

a. How many are there with red paint on all the 3 sides. 

b. How many are there with red paint on all the 2 sides. 

c. How many are there with red paint on all the 1 sides. 

d. How many are there with no paint on all the sides.

6. A watch was there. It was 1 minute slow per hour in the day time and 2 minutes fast per hour in the night time. It was shown me the same time when I looked it before. After how many hours I had seen it again? 

7. It was from the previous papers. Sachin made 78 more than Azhar. Azhar and Robin both combined 96.like this some conditions are given and they had asked about the total score of the match? chetanasinterview.com
8. Sorry, I didn't Remember. 

9. Problem on the arrangements. Given that A-E who Speaks Languages Spain, English, Portuguese, French etc. One Speaks 5, One Speaks 4, One Speaks 3, One Speaks 2, One Speaks 1 and Some other Conditions and four Questions asking who speaks which languages. 

10. Problem on Series. 

a. 3, 7, 10, 8, _, 9, 12, 16. 

b. 1, _, 27, 256, 3125, 46656.

First Puzzle:- There are 2 Threads which are uneven although their lengths. Each will burn for 60 minutes. You need to calculate 45 minutes using both those threads. You had no watch or anything, just only the threads and the match box.

 http://www.ChetanaS.com

Second Puzzle:- You are given 8 balls which are common in size, but 1 is defective in them Remaining 7 are equal in weights except that 1. You had find out the defective using the common balance in only 2 iterations. How will u do that.

INFOSYS PAPER & INTERVIEW - 28 MAY 2006 - KOLKATTA

1. In a game of cricket Sachin scored 76 more than Azahar, Azhar  scored 78 less than dravid.and.the total runs made by Azahar and robin are 94.Robin scored 26 more than zadeja.Zadeja scored 26 more than Robin. What is the score? Ans: 338

2.  a)  10.7.8,_,12,9   Ans: ?11
     b)   46656, 3125, 256,27,_,1     Ans:4
 
3. There were 2 systems A n B.14 degrees in A is equivalent to 36 in system B.and 133 in A is equivalent to 87 in B.now what is the temperature where they both r equal? Ans:::52.5
 
4. A cyclist is cycling in a circular path.he is at some point on the path,at that point 1/5th of the cyclists infront of him and 5/6th back to him gives the total number of clyclists participating in the race. What is the total number of cyclists?Ans:32
 

5. My husband's watch gains 2 minutes every hour and my watch loses 1 minute for each hour.  One day, we were late to marriage because the difference between the time in the two watches was 1 hr and we looked at the slow watch.  When did we last set our watches to the same time? Ans : 20 hours 

 
6. B & C initially speak English but when D joined spanish,they also took up spanish.The only common language between A, B and E is French.The only common language between C and E is Italian.Three people speak Portuguese. Most common language is French.One person knows all 5 languages. One person knows 4. One person knows 3. One person 2. One person 1. Who speaks what ? http://chetanas.com
Ans: C does not know -French , A-3 languages. B-5 languages. C-4 languages. D-1 languages. E-2 languages (I had answered this question.)

 

7. There is a large cube which is painted in blue. Now this large cube is cut into 27 small cubes in 6 large cuts. How many cubes have  (i) all three sides painted   (ii) two sides painted   (iii) one side painted (iv) no side painted  
Ans  a) 8      b) 12     c) 6     d) 1
 

8. ..In a race Andrew beats Jim. Jack is not the last. Dennis loses to both Jack and Lucia. Jim beats Jack. Who won the race? Ans:::::: Andrew (Pattern is same  but name and sequence is changed and according to the Question in Infosys exam, answer is Dennis ) http://www.chetanasinterview.com
 
9. . A man travels to his office at 10kms/hr. On his return journey he travels the same distance at the speed of 15kms/hr as the road was empty. What was the average speed? Ans: 12kms/hr
 
10. One lady have some money,she spend 1/2 of her money + 2 rs at grocery, she spend 1/2 of her remaining money + 5 at butcher's shop, and then spend 1/2 of the remaining money at dairy.At last with her remaining 5 rs she bought an icecream What is her initial money? Ans : 64 rs.
 
 
In interview they asked Puzzle
 
1. If the radius of a sphere is doubled then what is the impact on it's volume? Ans : 8 times.

2. If a clock takes 3 sec to strike at 3 o clock (striking time neglected), then wht would be d time taken by d clock to ring when it is 7 o clock. Ans : 9 sec.

3. Yadav's salary is 100 rs. If his salary is increased by 10% then wht will be the % to be reduced to bring back his previous salary????? Options were a)10% b) 11% c) 11.5% d) 11 1/2 %.....They told me to make a mental calculation and told me to do it within 30 sec...
 
I answered "none of this" , because it would be 9.1% and that was not in the options
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Infosys Question paper :28 May 2006, HYDERABAD

1. In cycle race held in circular ground, there are 1/5 ahead of arun and 5/6 after him. Find the total number of cyclists.

2. Reema and Mona went to shopping, they had spent half of the money plus Rs.2 in butcher shop, then they had gone to xxx spent half of the remaining +Rs.5.then they went to bakery and spent half of the remaining amount. finally Rs.5 was left with them. how many rupees did they carry.

Ans: 64

3.A person started two watches, he observed that after one hour, one watch gains 1 min/hr and the second watch loses 2 min/hr. After how much time will the two watches have a difference of one hour. chetanas.com
Ans: 20 hrs

4.In a match Sachin scores 78 runs more than azhar,dravid's score exceeds azhars score by 76 runs. total of azhar's  and robins runs is 94.robin exceeds jadeja s score by 26 and dravid exceeds robins score by 26 runs. Calculate the total score.

Ans: 338

5.A large cube is painted red on its outer surface and cut into 27 cubes by 6 straight cuts.
a) No of cubes whose 3 sides r painted
b) No of cubes whose 2 sides r painted
c) No of cubes whose 1 sides r painted
d) No of cubes whose 0 sides r painted

ans: a-8,b-12,c-6 d-1

 
6.On a holiday a,b,c,d,e plan to have a picnic, they had a running race.c beats d. a&e  overtake b.e is not the last.d overtakes e.who won the race.

Ans:c(not sure)

 
7.a) 46636,3125,256,27, --, 1 Ans:4=2^2
  b) 3,10,7,8,--,12,9,16 ans:11(may be)
 

8.A motorcyclist says "I drove with the sped of ten miles/hr while going.while returning traffic was less so I drove the same didstance with 15miles/hr." what is his average speed. chetanasinterview.com
Ans: 12miles/hr.

9. There are 2 systems And B.14 degrees in A equal to 36 in B.133 in A equivalent to 87.at what temperature both shoe equal readings.

Ans:52.5 (A=7/3B-70.)

10.5 persons A,B,C,D,E go for a meeting B and C are talking in English, when D joined they used Spanish which was the only common language.A and E can speak only Italian.and some conditions. one person can speak 5 languages, another 4 languages,one 3,one 2 and one can only speak  one language. 4 QUESTIONS BASED ON THIS.

